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( BV-1)

(o n d=0 1 2 3 4 5
0.90 20 0.71660 |0.71456 |0.76844 |0.71276 |0.68954 | 0.67775
0.90 | 21 0.72066 |0.71915 |0.77127 |0.71508 |0.69171 |0.68000
0.90 | 22 0.72415 |0.72187 |0.77382 |0.71619 | 0.69397 1 0.68162
0.90 23 0.72651 |0.72451 |0.77486 |0.71813 |0.69576 |0.68034
0.90 24 0.72899 |0.72720 |0.77691 |0.71978 | 0.69630 | 0.68265
0.90 25 0.73163 |0.72915 |0.77858 |0.72032 | 0.69850 | 0.68366
0.90 26 0.73349 |0.73077 |0.77980 |0.72245 | 0.69955 | 0.68348
0.90 | 27 0.73508 |0.73152 |0.78217 |0.72348 |0.69916 |0.68550
0.90 28 0.73592 |0.73267 |0.78346 |0.72321 |0.70013 | 0.68699
0.90 @ 29 0.73653 |0.73393 |0.78382 |0.72366 |0.70155 |0.69170
0.90 30 0.73764 |0.73467 |0.78426 |0.72492 |0.70578 | 0.69187
0.90 20 0.71940 |0.71844 |0.77545 |0.70519 |0.68135 |0.66734
0.90 21 0.72355 |0.72294 |0.77815 |0.70749 10.68353 |0.66952
0.90 | 22 0.72696 |0.72556 |0.78074 |0.70862 |0.68573 |0.67111
0.90 | 283 0.72921 |0.72825 |0.78179 |0.71051 |0.68749 1 0.66978
0.90 24 0.73174 10.73096 |0.78379 |0.71212 |10.68796 |0.67208
0.90 25 0.73440 |0.73287 |0.78547 |0.71260 | 0.69014 1 0.67303
0.90 26 0.73623 |0.73451 |0.78669 |0.71472 10.69114 (0.67277
0.90 | 27 0.73784 |0.73526 |[0.78911 |0.71570 |0.69069 | 0.67485
0.90 28 0.73867 |0.73643 |0.79039 |0.71536 |0.69172 |0.67640
0.90 @ 29 0.73931 |0.73769 |0.79071 |0.71588 |0.69318 | 0.68168
0.90 30 0.74040 |0.73840 |0.79123 |0.71718 |0.69788 | 0.68189




( BV-1)

(o { n d=6 7 8 9 10

0.90 20 0.63052 |0.60162 |0.55938 |0.55458 |0.53252
0.90 21 0.63192 |0.60125 |0.56205 |0.55545 |0.53032
0.90 | 22 0.63067 |0.60380 |0.56294 |0.55257 |0.53242
0.90 23 0.63293 |0.60490 |0.56032 |0.55441 | 0.53411
0.90 24 0.63391 |0.60404 |0.56225 |0.55596 |0.54005
0.90 25 0.63310 |0.60590 |0.56364 |0.56167 |0.54155
0.90 26 0.63491 |0.60721 |0.56927 |0.56312 |0.54292
0.90 | 27 0.63618 |0.61155 |0.57073 |0.56445 |0.55312
0.90 28 0.64044 |0.61217 |0.57210 |0.57432 |0.55367
0.90 29 0.64061 |0.61346 |0.58165 |0.57447 |0.55445
0.90 30 0.64177 |0.62156 |0.58178 |0.57514 |0.55942
0.90 20 0.61196 |0.58306 |0.53683 |0.53371 |0.51279
0.90 21 0.61329 |0.58264 |0.53948 |0.53448 | 0.51047
0.90 | 22 0.61202 |0.58517 |0.54028 |0.53152 |0.51262
0.90 23 0.61426 |0.58618 |0.53758 |0.53341 |0.51436
0.90 24 0.61516 |0.58520 |0.53956 |0.53501 |0.52102
0.90 25 0.61423 |0.58709 |0.54100 |0.54142 |0.52252
0.90 26 0.61607 |0.58843 |0.54727 |10.54287 |0.52391
0.90 | 27 0.61737 |0.59329 |0.54872 |0.54421 |0.53530
0.90 28 0.62213 |0.59393 |0.55011 |0.55522 |0.53583
0.90 29 0.62234 |0.59523 |0.56072 |0.55537 |0.53653
0.90 30 0.62350 |0.60417 |0.56084 |0.55598 |0.54199




** BV-1

**

log(y) 1.781164 | 0.011313 | 0.106364  BV-1
X, | 62.79888 | 4054.683 | 63.67639 (cr=0.90, n=30)
1998/1/1  1999/1/17 ( =122)

(s§ ryl) _ ( 0.011313  0.791230 )
1y =

S, S -5.358910  4054.683

** Bv_l **

y=exp(a;x;+ag,)

4054.683 a, = -5.358910

ay=log(y)- x,a;
X, |-0.001322 0.791230 0.791230 (aox=0.90, n=30)
1.864163
0.791230
0.626045




